Subject: Re: how can i create the variable size at birth?
Posted by abpromiti on Thu, 14 Jun 2018 08:24:39 GMT

View Forum Message <> Reply to Message

hello,

| am working on BDHS 2014 IR spss file,which gives,

frequency V208=17863(so excluding no birth/zero birth | get =17863-11008=6855 individuals.)
Where as BDHS 2014 KR spss file shows

frequency V208=7886 individuals.

Why the above 2 files are giving different values for the same variable?

attachments are given below.

File Attachnents

1) Screenshot (10).png, downl oaded 580 tines
2) Screenshot (11).png, downl oaded 564 tines
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